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Da Vinci’s Ornithopter

mechanical engineer and scientist. Although he had no formal academic training, he
is widely considered to be one of the great inventors of all time.1.

bird’s wings.

The word ornithopter derives from two ancient Greek words, which mean bird and wing.
2.          

Before inventing any means of transport, humans used to travel on foot. Later they learnt how to 

spent on the journey. The history of transport includes many successful innovations, as well as 
experiments that failed.

Who…

A. Skim-read the text. Then write DV (Leonardo Da Vinci) or JC (Nicolas-Joseph 
Cugnot) to answer the questions below.

Why or why not?
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1. built machinery for the army? 

2. was inspired by nature? 

3. was punished for an accident? 

4. was an artist as well as an inventor?

5.  lived in France?
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Cugnot was a military engineer. 4.           So, in 1770 he constructed a
full-size version of the Steam Dray, which was able to carry four tonnes
and travel at 7.8 kilometres per hour. However, it could not navigate across rough terrain or steep 

place in 1771, when the second version of Cugnot’s vehicle knocked down a part of the Paris
Garden walls. 5.
with mechanical vehicles was abandoned entirely.

models that consisted solely of a pair of wings attached to human arms. He understood that humans 

would have to lie face down on a wooden plank so that huge wings could be attached to it.
3.
system of pulleys.

Steam Dray

were created in the mid-19th century in France and were powered by fossil fuels.

built by the French inventor Nicolas-Joseph Cugnot in the 18th century.

Still, in 1772 King Louis XV decided to grant Cugnot a pension of 600 livres a year for his
innovative work. Furthermore, the experiment was judged interesting enough for his vehicle to be 
kept at the arsenal. In 2010 a copy of the Steam Dray was built by students at the Institute of
Science and Technology. Their model worked perfectly, proving that Cugnot’s automobile was able 
to function successfully in 1769.

Β. Read the text. Five sentences have been removed from it. For each gap (1-5) 
choose one sentence from the ones listed below (A-G). There are two extra
sentences you do not need to use.

According to reports, Cugnot was arrested and convicted of dangerous driving.
As a result, he used to draw inspiration from nature for his creations.
Da Vinci spent a lot of time in the countryside.
Cugnot was exiled in Brussels, where he lived in poverty.

crossbow.
In 1765 he began working on models of steam-powered vehicles for the army.
These wings were designed to be pointed, like those of a bat.

A.
B.
C.
D.
E.

F.
G.


